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�PQO = �QOS −�POR − �� PRSQ

=
c · d
2

− a · b
2

− (b + d) · (c − a)

2

=
ad − bc

2
,

������ PQO ���	 ad − bc�,

ad − bc > 0.

� �������� P � Q 8-����!����� PO

� QO� ����������� OP ��� b−0
a−0 = b

a �

OQ ��� d−0
c−0 = d

c�	�'����2��	�� OP '�

� OQ 
������

b

a
<

d

c
⇒ ad − bc

ac
> 0.

� a, c ��6����

ad − bc > 0
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c + di
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OQ(cos∠QOR + i sin ∠QOR)

OP (cos ∠POR + i sin∠POR)

=
OQ

OP
(cos(∠QOR − ∠POR) + i sin(∠QOR − ∠POR))

=
OQ

OP
(cos ∠QOP + i sin∠QOP ) ,

� 0◦ < ∠QOP < 90◦��� sin ∠QOP > 0�,�� c+di
a+bi ��

"�6���0

c + di

a + bi
=

(c + di)(a − bi)

(a + bi)(a − bi)
=

(ac + bd) + (ad − bc)i

a2 + b2

� ad − bc > 0�
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−→
OP = (a, b),

−→
OR = (b,−a) �

−→
OQ =

(c, d)�0 −→
OP · −→OR = ab + b(−a) = 0,

� ∠POR = 90◦�, 90◦ < ∠QOR < 180◦��	
���:

� −→
OQ · −→OR = OQ · OR cos ∠QOR < 0,
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���. (x−2, x+2, x)��� �,���. (x−2, x+3, x−1)�
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(2(x − 2), (x + 3) − (x − 2), x − 1) = (2x − 4, 5, x− 1).
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